Amana UG8290 16 - MOTOR, MTG BRACKET, BELT & IDLER ASSY

A

g2

20605 HI-TEMP LUBE
{Usa on Idjer shaft)

MOTOR, MOUNTING BAACKET, BELT AND IDLER ASSEMBLY

mana Residential Amana UG8290 Washer Parts Parts Diagram 16 - MOTOR, MTG BRACKET, BELT & IDLER ASSY

Click on the part number to view part

27001225

2221070

37366
40054701
40038901

Not Available

Not Available

Not Available

Not Available

Shield, Motor

Locknut

Motor-Drve
ASSY,MOTOR & PULLEY
Pin, Roll
PULLEY,MOTOR

Nut, Jam Mid Lock 1/4-20
SUB 35187

Clamp, Nylon

IDLER LEVER

Shaft, Idler

Washer, Felt

Clip, Spring

Spring, Idler

Washer

Screw, 1/4-20


http://www.pwslaundry.com/c-502067-residential-amana-ug8290-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10392825-amana-27136-washer-shield-motor.html
http://www.pwslaundry.com/i-10392840-amana-27201-washer-locknut.html
http://www.pwslaundry.com/i-10396136-amana-27179p-washer-motor-drve.html
http://www.pwslaundry.com/i-10392839-amana-23750-washer-pin-roll.html
http://www.pwslaundry.com/i-10393323-amana-27001225-washer-dryer-nut-jam-mid-lock-1-4-20.html
http://www.pwslaundry.com/i-10396411-amana-2221070-washer-clamp-nylon.html
http://www.pwslaundry.com/i-10392836-amana-28802-washer-shaft-idler.html
http://www.pwslaundry.com/i-10392835-amana-y29443-washer-washer-felt.html
http://www.pwslaundry.com/i-10392837-amana-28849-washer-clip-spring.html
http://www.pwslaundry.com/i-10393693-amana-37366-washer-spring-idler.html
http://www.pwslaundry.com/i-10393663-amana-40054701-washer-washer.html
http://www.pwslaundry.com/i-10393664-amana-40038901-washer-screw-1-4-20.html

16
17
18
19

20

21
22
23

24

25

26

27
28
29
30

NI

28800

'Y00000000

26592

Y00161 B5733302

23604
'Y00000000
03888
01953

27181
01952A
03888
24139
24142
20606

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available
Not Available
Not Available
Not Available

Belt, Agitate And Spin
Ring, Retaining

Washer, 501 ID X3/4 Odx

WHEEL,IDLER

SEE NOTE MOTOR
MOUNTING PLATE

HEX HEAD SCREW
Clip, Ground
Nut, Hex 10-32 Lock

SEE NOTE GROUND WIRE,

GREEN
WASHER

WASHER,LOWER MOTOR

MOU
SPACER,MOTOR
Mounting, Rubber
WASHER
SWITCH,MOTOR
SWITCH,MOTOR
HI-TEMP LUBE


http://www.pwslaundry.com/i-10392828-amana-28808-washer-belt-agitate-and-spin.html
http://www.pwslaundry.com/i-10392832-amana-23748-washer-dryer-ring-retaining.html
http://www.pwslaundry.com/i-10392834-amana-52549-washer-dryer-washer-501-id-x3-4-odx.html
http://www.pwslaundry.com/i-10396027-amana-b5733302-washer-dryer-clip-ground.html
http://www.pwslaundry.com/i-10392827-amana-23604-washer-nut-hex-10-32-lock.html
http://www.pwslaundry.com/i-10392826-amana-01952a-washer-mounting-rubber.html

	Amana UG8290 16 - MOTOR, MTG BRACKET, BELT & IDLER ASSY

